General Info

Total:

\$2,313,720.50

Number

05-2021

Deadline

08/31/2021 02:00 PM EDT

Vendor

Phoenix Fabricators and Erectors, Inc.

Submitted

08/31/2021 12:45 PM EDT

Signed by

Jessica Bradbury

Opened

08/31/2021 02:11 PM EDT By jeffcoleman@co.madison.oh.us

Description

Madison County Water System - Elevated Storage Tank

Allows zero unit prices and labor

No

Allows negative unit prices and labor

No

Questions

All questions regarding this solicitation shall be directed to Maria Borchers with the IBI Group. Maria can be reached at maria.borchers@ibigroup.com

Attachment List

Legal Notice (22.5 KB)

Madison County Water Distribution System-Elevated Storage Tank (7.16 MB) All bidding documents are included in this download

Project Plans

Login Username: 121077vxz Password: pQ7mhmpQ

State Prevailing Wage Rates

Addendum 1 (320 KB)

Addendum #1

Addendum 2 (427 KB)

Addendum3 (183 KB)

Terms and Conditions

☑Bidder has read the attached bidding documents and supplemental conditions and agrees to all terms & conditions.

Bidder Acknowledgement

✓Bidder has downloaded and completed all forms found in the bidding documents

*

✓Bidder has uploaded completed bidding documents in the required section

*

Addendum(s)

- ☑Bidder has downloaded, read and agrees to all items presented in addendum # 1
- *
- ✓ Bidder has downloaded, read and agrees to all items presented in addendum # 2
- *
- ☑Bidder has downloaded, read and agrees to all items presented in addendum # 3
- *

Description	Quantity	Unit	Unit Price	Extension
Alternates are not included in bid total.				
Elevated Storage Tank	1.000	EA	\$1,727,393.00	\$1,727,393.00
16" DI Water Line	138.000	LF	\$202.00	\$27,876.00
16" Check Valve and Vault	2.000	EA	\$14,600.00	\$29,200.00
Concrete pad for Building	36.111	SY	\$500.00	\$18,055.50
Chlorination Station	1.000	EA	\$282,000.00	\$282,000.00
4" DI Pipe	70.000	LF	\$162.00	\$11,340.00
6" Gravel Drive, O.D.O.T Item 304	90.000	CY	\$135.00	\$12,150.00
Electrical to Building	1.000	LS	\$28,500.00	\$28,500.00
Electrical to Tank	1.000	LS	\$51,000.00	\$51,000.00
Tank Lighting	1.000	LS	\$59,000.00	\$59,000.00
Seeding/mulching	1.000	LS	\$4,500.00	\$4,500.00
16"x6"x16" Tee to Hydrant	2.000	EA	\$5,418.00	\$10,836.00
Fire Hydrant and Watch Valve	2.000	EA	\$7,465.00	\$14,930.00
6" PVC Water Line to Hydrant	7.000	LF	\$120.00	\$840.00
Chain Link Fence	350.000	LF	\$71.60	\$25,060.00
Gate for Fence	1.000	EA	\$2,000.00	\$2,000.00
Rock channel Protection	6.000	CY	\$135.00	\$810.00
12" Storm Culvert	20.000	LF	\$74.00	\$1,480.00
Site Grading	1.000	LS	\$6,750.00	\$6,750.00
				Total: \$2,313,720.50

REQUIRED DOCUMENT LIST

Name	Omission Terms	Submitted File
W-9 Upload a copy of your W-9		2021 - W-9 - Phoenix.pdf
Bidding Documents-1 Upload completed bidding documents		01 - Guaranty & POA - PFE.pdf
Bidding Documents-2 if needed Upload completed bidding documents	Not needed if above bidding documents does not exceed 10 MB	02 - Bid Form - PFE.pdf
Bidding Documents-3 if needed Upload completed bidding documents	Not needed if above bidding documents does not exceed 10 MB	03 - Supporting Documents - PFE.pdf
4 Required Documents		

General Info

Total:

\$2,105,600.00

Number

05-2021

Deadline

08/31/2021 02:00 PM EDT

Vendor

Caldwell Tanks, Inc.

Submitted

08/31/2021 01:54 PM EDT

Signed by

Kevin Gallagher, PE

Opened

08/31/2021 02:12 PM EDT By jeffcoleman@co.madison.oh.us

Description

Madison County Water System - Elevated Storage Tank

Allows zero unit prices and labor

No

Allows negative unit prices and labor

No

Questions

All questions regarding this solicitation shall be directed to Maria Borchers with the IBI Group. Maria can be reached at maria.borchers@ibigroup.com

Attachment List

Legal Notice (22.5 KB)

Madison County Water Distribution System-Elevated Storage Tank (7.16 MB) All bidding documents are included in this download

Project Plans

Login Username: 121077vxz Password: pQ7mhmpQ

State Prevailing Wage Rates

Addendum 1 (320 KB)

Addendum #1

Addendum 2 (427 KB)

Addendum3 (183 KB)

Terms and Conditions

☑Bidder has read the attached bidding documents and supplemental conditions and agrees to all terms & conditions.

Bidder Acknowledgement

✓Bidder has downloaded and completed all forms found in the bidding documents

*

✓Bidder has uploaded completed bidding documents in the required section

_

Addendum(s)

- ☑Bidder has downloaded, read and agrees to all items presented in addendum # 1
- *
- ☑Bidder has downloaded, read and agrees to all items presented in addendum # 2
- *
- ☑Bidder has downloaded, read and agrees to all items presented in addendum # 3
- *

Description	Quantity	Unit	Unit Price	Extension
Alternates are not included in bid total.				
Elevated Storage Tank	1.000	EA	\$1,568,882.50	\$1,568,882.50
16" DI Water Line	138.000	LF	\$202.00	\$27,876.00
16" Check Valve and Vault	2.000	EA	\$14,600.00	\$29,200.00
Concrete pad for Building	36.111	SY	\$500.00	\$18,055.50
Chlorination Station	1.000	EA	\$296,000.00	\$296,000.00
4" DI Pipe	70.000	LF	\$162.00	\$11,340.00
6" Gravel Drive, O.D.O.T Item 304	90.000	CY	\$135.00	\$12,150.00
Electrical to Building	1.000	LS	\$14,750.00	\$14,750.00
Electrical to Tank	1.000	LS	\$19,950.00	\$19,950.00
Tank Lighting	1.000	LS	\$32,700.00	\$32,700.00
Seeding/mulching	1.000	LS	\$4,500.00	\$4,500.00
16"x6"x16" Tee to Hydrant	2.000	EA	\$5,418.00	\$10,836.00
Fire Hydrant and Watch Valve	2.000	EA	\$7,465.00	\$14,930.00
6" PVC Water Line to Hydrant	7.000	LF	\$120.00	\$840.00
Chain Link Fence	350.000	LF	\$93.00	\$32,550.00
Gate for Fence	1.000	EA	\$2,000.00	\$2,000.00
Rock channel Protection	6.000	CY	\$135.00	\$810.00
12" Storm Culvert	20.000	LF	\$74.00	\$1,480.00
Site Grading	1.000	LS	\$6,750.00	\$6,750.00
				Total: \$2,105,600.00

REQUIRED DOCUMENT LIST

Name	Omission Terms	Submitted File
W-9 Upload a copy of your W-9		1-W9 Form.pdf
Bidding Documents-1 Upload completed bidding documents		2-Bid, Bond, Addendums, Sketches.pdf
Bidding Documents-2 if needed Upload completed bidding documents	Not needed if above bidding documents does not exceed 10 MB	3-Affidavits, Certificates.pdf
Bidding Documents-3 if needed Upload completed bidding documents	Not needed if above bidding documents does not exceed 10 MB	4-Experience, Qualifications, Sub & DBE List.pdf
4 Required Documents		